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e Please check that this question paper contains 8 printed pages.

® (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

® Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minutes time has been allotted to read this question paper. The question paper will be
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General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All guestions are compulsory.

(ii)  Section A contains question number 1 to 5, Very Short Answer type questions of
one mark each.

(iii)  Section B contains question number 6 to 10, Short Answer type I questions of two
marks each.

(iv)  Section C contains question number 11 to 22, Short Answer type II questions of
three marks each.

(v) Section D contains question number 23, Value Based Question of four marks.

(vi)  Section E contains question number 24 to 26, Long Answer type questions of five
marks each.

(vii) There is no overall choice in the question paper, however, an internal choice is
provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any one of the questions out of
the two given in the question paper with the same question number.

TUS - &
SECTION - A
. b= § 39 USTEH &1 A 9d1s8 St hnRNA T 3eiE (SEhRT) I ¢ | 1

Name the enzyme that transcribes hnRNA 1n eukaryotes.

2.  HEH A ISEA b UMl o &g TR (56T ah1 3119 ST AT 3 2 1
Name the interaction that exists between Cuscuta and shoe-flower plant.
3. T S o ShHRIH [ R € 2 Sany | 1

State the chromosoemal detect in individuals with Turner’s syndrome.
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TeT ST T &7 fosll T qUer (A) 3R HIEhetdr (B) & Yo7 & S0 (Seha) S9M0 70 & | 375
ST bl T H 37X I | 1
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These pictures show the gynaeceum of (A) Papaver and (B) Michellia flowers. Write
the difference 1n the structure of their ovaries.

5. UMY ITSoht o 3Tk He<l &l IdT HiT | 1

Mention the economic value of Apis indica.

[CLICEERE |
SECTION - B
6. T YAl € 3R Ya1g 9] Tl | TS foh 3T 91k bl -1 HIAST AR G 9Io] i =T
GHTE | 2
Shark 1s eurythermal while polar bear 1s stenothermal. What 1s the advantage the former
has and what s the constraint the later has ?

7.  E-coRL &M & ? SaT2U & EcoRI fFH U taa=gfoeiust ¥ = gar & | 2

What 1s EcoRI ? How does EcoRI differ from an exonuclease ?

3. 3\’%

l UV vt
CFC’s —> C/ W

!

O —» 0 |
(a) 3T & EIEROT o U9 8 dTel SO 3T § 2
(b) THH YT W U =T JHT TSl & ? 2
lUVlight

CFC’s—> (C/ atoms

!

03 ﬂ 02
(a) What are the after effects of the degradation of ozone ?
(b) How does it affect human health ?
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0. UH [M:HdM i T& T &all’” YW o foTT il 81 T € | THEROT S o [elT 39 ggid |
YA S STt Jorse RN <l ol T1Y |
AT
el Tl SATHHEAAT Tl el ST &, STalch 2ol 1 ST el ST & | T 2 2

A childless couple has agreed for a test tube baby programme. List only the basic steps
the procedure would involve to conceive the baby.

OR

Banana fruit 1s said to be parthenocarpic where as turkey 1s said to be parthenogenetic.
Why ?

0. IEHERT AR A (AX) U 37T & 3aT qESA 37 ? 30+ I Bl G & 7T HROT

ddigl | 2
Is sweet potato analogous or homologous to potato tuber ? Give reasons to support your
answer.
g - 1
SECTION - C
1. PCR ¥ Taq UTeiHiST ol o7 aRIEdT &1 ST & 2 9 USTEH & @Id i 941 i | 3

Why 1s Taq polymerase preterred in PCR ? Mention the source of this enzyme.

2. &R fHaE ST 9t DDT &1 SUAN Hid © | SqH S UaTl-Hane 0 {8 Tehi SOnTd gedl
g2 3

Our farmers still use DDT. How 1s this affecting the local bird population ?

13. odreU { HIV.-& SHROT AIDS & difsd cafdd sl Uiaeen-as g TR 9T &1 Sar € | 3
How does the HIV breakdown the immune system of the AIDS patient ?
14.
=
78R\
:;f'f \\
| Y
7z
Y ':-—l* j L X
ws? X |,
SIIET 3G T HHE &l 7 T-05 (hael Teh al i) ST 7T € |
(a) X’ I YA HifsTT 99T IR & JiaT IGeh TEfd Ia7u |
(b) TWETIH UMY Y’ & A9 Id1EU adT 39 A1d &I 919 9T Id2U |
(c) ‘Z’ &1 AT I9T ST B FdEy | 3
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#

The above diagram shows human male reproductive system (one side only).
(a) Identify ‘X’ and write its location in the body.
(b) Name the accessory gland Y’ and its secretion.

(c) Name and state the function of ‘Z’.

15. U8 | Yad 3T et T o AT o Tehiaeh o)0T | TS0 sl a7 YiHehT &l 2 3
yerar

T o HeY H ST MToiedl 3R ST hod=il o Sl THAT Sl 3T 379 THEd & 9

How did industrialization play a role in Natural Selection of light and dark coloured

moth in England ?

OR

What do you mfer from the resemblance between tlying squirrel and flying phalanger

with referenee.to their evolution.

16. TS AR EEE o (THEan) T WA € | 37 I TN Bl GEldg BT D 39 b0l
! G Sl ST Tehall &1 | 39 GehHUT o Rk ISk 1 AT Farey | 3

A patient 1s down with Amoebiasis. List the symptoms that confirm this infection.

Name the causative pathogen.

17. (a) DNA & I8 To AR HiST Sofeh H 3T Ty |
(b) DNA & Uihdia & TeTT il o |l Sl 719 Jaey | 3

(a) Differentiate between a template strand and coding strand of DNA.

(b) Name the source of energy for the replication of DNA.
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18. TXRME URAT § & allct 39 UISU-3TI5HHUT 3l ST iU STa deh aXHIcehy YR a0 el Ued

S{IAl | 3

Explain succession of plants in xerophytic habitat until it reaches climax community.

19. T I Uh HOA [HAl TRT H ThiHd & Tl & | 399 Iy g T-%H hd TR
forsRIEeT sl ST Hehcll & 2 39 WUl Sl AT HitTd | 3

A sugarcane has been affected by virus. How can a virus free cane be developed from

it ? Explain the procedure.

20. RNA &l geT § DNA 7 sga? 3Taee 95 ¢ 2 3

Why 1s DNA a better genetic material when compared to RNA ?

21. U AWIER] H8 TR 98 & = &IT € ? Uedieh o1 331607 3 gU SATEAT T | 3

How does a detritivore differ from a decomposer ? Explain with an example each.

2. AT Th % SR EfarEd 9 § Ush = S H 8 Jroll 92131 Sl ST Hilew 3

(a) 139 | ARL159 57 o TSR & HidY 8 Tl ST

(b) 169 9 oY 239 T Teh TS & WY 91T S oot 81HIHT ol &
(c) 249 | R 299 57 9o THIRT & Wi 8 a1t 910

Explain the events in a normal woman during her menstrual cycle on the following

days.
(a) Ovarian event from 13-15 days
(b) Ovarian hormones level from 16 to 23 days

(¢c) Uterine events from 24 to 29 days
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g - ¥

SECTION -D
23. U THRRIE I JAT AT H g bl U &1 AT | 3Gk HIAI-TUal 3IHeh 37T Sl M 3+ b 1T
A B T | 3 ] 37 a9 [alehedehld SO i Gl a18Y, ST Al 37 & WiaRauT i
T Uge [0 ST SR B & | S l-shdl T RIguT e Aol | ol STaiehd &1 STar & 2 37 g
! TIcIed i & [T 37T 39 WEF-FAd o G & 1Y 7 TaaR-fomsT e 9@t 2 4

A youth 1n his twenties met with an accident and succumbed to the injuries. His parents

agreed to donate his organs. List any two essential clinical steps to be undertaken before
any organ transplant. Why 1s the transplant rejected sometimes ? What views would you
share with your health club members to promote organ donation ?

que - &
SECTION -E
24. Yiaeid 53R ot Ter=dl § DNA Uidshdia bl UishaT sl ST Shitslg |
AT
(a) TUH THIHST oid 3R A dell arel adT Teh & 31X SRIRR aiSil aret SaTH 92X @ gl

& 9 [5HHT GHL0T HIAT 74T |

(i) 39 GBI E U F, Haid o HHAIIET 3R SHEET & a1 | {diEg |

(i) ', Sl &R ST ored 9= TehR & ZrHeh ey |

(iii) =9 HHLT § U F, Glel o Tl 3 3§ SFArdl sl ==l Hifew L HY &
UGS g &1 AT =2t o foifaw |

(b) HI SR S § fhT M0 qU1 Heel R WX % Ul H fRT U fgEe el &
F, Giia =6 U&T0T H R 3} & ? HRT ST gU ] hifsy | 5

Explain the process of DNA replication with the help of a replicating fork.
OR

(a) Dihybrid cross between two garden pea plant one homozygous tall with round
seeds and the other dwart with wrinkled seeds was carried.

(1)  Write the genotype and phenotype of the F, progeny obtained from this

CIOSS.

(1)  Give the different types of gamates of the F, progeny.

(1) Write the phenotypes and its ratios of the F, generation obtained in this

cross along with the explanation provided by Mendel.

(b) How were the observations of F, progeny of dihybrid crosses in Drosophila by

Morgan different from that of Mendel carried in pea plants ? Explain giving
reasons.
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25. Bt UM 39 X § U STEUIRITTe! o STIIFNT ol AT BT | 3

ST

ST T dde 3T DNA-HIT Sl 7 T T, 37T g0 TSI i TN 7 [haT ST, q97 STl
ST, AF T aied QAT dgel 310] l 3cq~ -6l AT ST Tehl |

(a) ST DNA 4T i [HT U HIeT ST € 9
(b) THIC T WSl ol 3T HI ol deh-Ieh ol AR HIOT |
(c) 9 USKR AT gAaTS 99X DNA 3] 9§ fhd TR g S & 2

Explain the application of biotechnology in producing Bt cotton.

OR

Unless the vector and source DNA are cut, fragments separated and joined, the desired

recombinant vector molecule cannot be created.
(a) How are the desirable DNA sequences cut ?
(b) Explain the technique used to separate the cut fragments.

(c) How are the resultant fragments joined to the vector DNA molecule ?

26. HHI-3TSI0] &I HUEA (68 e T BN & 2 THh a5 hRAYS! (ARSIZ) o STaR90T deh e

ATeT ST i AT gal T | 5
3rerat
(a) TEEISTOE! OO & FoTad YoUTeh &1 3T AU | S0 Gl HINThid EH T ATHIHA
HINT |

(b) T YUTHIY T 30 Teh URUST YUT o TREET i AT FioTT |

Mention the site of fertilization of a human ovum. List the events that follow 1n
sequence until the implantation of the blastocyst.

OR

(a) Draw a diagram of a fertilized embryo sac of a dicot flower. Label all its cellular
components.

(b) Explain the development of a mature embryo from this embryo sac.
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